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pandas Series
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S xQf oAAl= list- 0=

from scipy.stats import norm
x=norm.rvs(loc=50,scale=10,size=20)

type(x)

numpy.ndarray

x[0:3]
array([46.20941901, 49.09732209, 56.87725475])

- 2|AE A2 pandas Series

- pandas Series ® 371 ™ ZASX| £ AutS HH A QlEAY

- ps_x[0:2] - & Q!

import pandas as pd
ps_x=pd.Series(x)

type(ps_x)

pandas.core.series.Series

ps_x.head(3)

ps_x[0:2]
0 46.209419
1 49.097322 0 46.209419
2 56.877255 1 49.097322

dtype: float64

SAZ

o

 Series gAlof| 7ts
ps_x.mean() #Z+#

52.20257012876957

ps_x.quantile(0.9) #90% 24=g/

62.107009801945644

dtype: float64

T517|, HI0|H subsetO| 7ts

ps_X[ps_x>63]

5 63.743034
14 70.246668
dtype: float64

SiLt.
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pandas 2=2 0/&3}0{ H|0|E{E EHEZ™ dataFrameO|Lt.

[Oll&I]http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/
SMSA.csv

import pandas as pd
filename="http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csV'

ds=pd.read_csv(filename, encoding="ms949")

type(ds)

pandas.core.frame.DataFrame

DataFrame.tail(?) : OFX[2F Ef HEE XY ? 702 &9

CIOIE 27| & €5 H|O|H &7

ds.shape

ClOjE =2 g =izt & 7H=

« AO| QlEAE ORH AlESIEZ RPN 7HA= 00[2t= M= E =0t
=
=

L

J_C
DataFrame.head(?) : A 81 ALRE X|H ? 7{LPHE =

ds.head(2)

city Mortality JanTemp JulyTemp RelHum Rain Education

0 Akron, OH 921.87 27 71 59 36 11.4
Albany-

1 Schenectady- 997.87 23 72 57 35 11.0
Troy, NY

ds.tail(2)
city Mortality JanTemp JulyTemp RelHum Rain Education
58 York, PA 911.82 33 76 54 62 9.0
Youngstown-
59 Warren, OH 954.44 28 72 58 38 10.7
Ci|lO|E =2 HM™E DataFrame.info()
« HIO|E{ 7= n= 60 entry, & QIEA 1S O to 59
« ¥ Hy SHA =3 - M4 int, A float, XIS object
« ZE=X| 27} LIEFE : income B120ll= 170 ZEX|7 /U
ds.info()
<class ‘pandas.core.frame.DataFrame">
Rangelndex: 60 entries, O to 59 ds.income[19:22]
Data columns (total 15 columns):
cil pop/house 60 non-null float64 19 32000.0
M income 59 non-null float64 20 NaN
Ja HCPot 60 non-null int64 21 29915.0 (21815
E5X| I+ &9

ds.isnull().sum()

city 0 ..o. housev 0
Mortality O %c?)/me 1
JanTemp O HCPot 0

nlvTemn N
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Z=X| &l O|0o|E| AA| : DataFrame.dropnal()

g e QIEA(0|F) 2T

L5

« A O0[E] & 0= F Hi0f

Zd
=
. 855 H|7{3 Clo|E TS AlZsiEE T2 of

o

T

ds.dropna().shape
(59, 15)

M| 4= 0|2 ZHMH : DataFrame.columns=['M0|E1’, ‘M0|E2,

B=X| tA|(Zf EiAl) - DEfillna(2k, inplace=True)

- . 15 338555.V
gz.if:::r:)aé‘(;,mplace—True) 19 32000.0
' 20 0.0
1 YF"1ACO N 22 294500 = inp|ace=True (Hri I|:|_:|7c:>|)

ZEX| CiA|(HZCHA) : DFfillna(3t, inplace=True)

w LA A A A S AN AN AN A N

. : 19 32000.000000
ds.fillna(ds.mean(),inplace=True) 20 33246661017

ds.income 21 29915.000000

22 J2QAEN NNNNNN

DataFrame.clumns : 2= 0|2 M

ds.columns #H120/§ =2 list(ds) =2/

Index(['city’, ‘Mortality’, 'JanTemp’, JulyTemp’, 'RelHum’, ‘Rain’,

‘Education’, 'PopDensity’, ‘NonWhite', 'WC', ‘pop/house’, ‘income’,

'HCPot', 'NOxPot', 'SO2Pot'],
dtype='object’)

- HEHE X2 MAFSICH Heot B2 42 HE

o

0|I
rlo

dsO=ds.iloc[:, 0:2] #Z/= 27} 8128+ X| X (0jA)
dsO.columns

Index(['city’, 'Mortality'], dtype="object’)

dsO.columns=["=A|YH''AILEX| '] #~F O[S Xl = 20{5t5H EICL
dsO.columns

Index([=A|H", "AFYEX|4"], dtype="object’)

DataFrame.rename(columns={!14}, inplace=True)

ds.rename(columns={'city":"=A|2'}inplace=True)
ds.columns

Index(['=A|H’, ‘"Mortality’, 'JanTemp’, JulyTemp’, ‘RelHum', 'Rain’,

‘Education’, 'PopDensity’, ‘'NonWhite', ‘WC', 'pop/house’, 'income’,

'HCPot', 'NOxPot', 'SO2Pot’],
dtype='object’)



3 Ol A XHAIR » str.strip() -, 201 M|2lstUS

- str.rjust(30,”) - & 30 2AtE 37|= BIE1 S22 D 25 TEF

s oldiAL= (0, 1, 2, ... 7t CIEEO|Ct okt e
ds.head(2) . str.slice(28,31) - 3074 27|2 Bt5

OfZ! EATEOfA 28HM-AtE 2 29817 (0
g2 )

FE AZStER)0|A 30 EXIES 270E 7M=L} (015

ds['=A|H"]=ds[ city'].str.split(' ', n=1, expand=True)[0]
city Mortality JanTemp JulyTemp RelHum Rain Education

ds['F0|&']=ds[ city'].str.split(' ', n=1, expand=True)[1]

0 Akron, OH 921.87 27 71 59 36 114
Albany- ds['=A|H ]=ds[' =A|H].str.strip(’,")
1 Schenectady- 997.87 23 72 57 35 11.0 ds['F0|2']=ds['F0|Z"].str.rjust(30,*")
Troy, NY ds['Z=0|2']=ds['F0|Z&"].str.slice(28,31)
0|2 - 3 QleA ghe7|
ds.head(3)
- str.split() * '€ n=13] AF8510{ expand=True 27} EXIYE LIFA|L.
« [0] ® & 2EAE= EAO|E, [1]0l= F0|E0| S017t UZ Z
city Mortality JanTemp B
o o ZAE 0o
ds['city'].str.split(' ', n=1, expand=True).head(3) =
0 Akron, OH 921.87 27
Akron OH
Albany-
0 1 1 Schenectady-  997.87 23 Albany-
Troy, NY chenectady- NY
0 Akron, OH Troy
Allentown,
- - 2 Bethlehem, 962.35 29
1 Albany-Schenectady-Troy, NY S =2 Allentown  NJ
TeSy

2 Allentown, Bethlehem, PA-NJ




DataFrame.set_index(‘QIEA0|E")

ds.set_index('F0|&").head(3)

city Mortality JanTemp JulyTemp Rel

_$_
Y
]
OH Akron, OH 921.87 27 71
Albany-
NY Schenectady- 997.87 23 72
Troy, NY
Allentown,
NJ Bethlehem, 962.35 29 74
PA-NJ

HE|QIH A (&) multi_index : DF.set_index([‘0|£1,0|&2)

ds.set_index(['F0|&', '"=A|E']).head(3)

city Mortality JanTemp JulyTemp RelHum

« X &l QIEIA AFESIHM - “OH” ohio F TA| &5
ds.loc['OH']
city Mortality JanTemp JulyTemp RelHum Rain
SAY
Akron Akron, OH 921.87 27 71 59 36
Canton Canton, OH 912.35 27 72 59 36
Clavaland  Cleveland, oo oo 28 71 60 35
- B, S OlEA S| AL

ds.loc['OH’,'Canton’]

city Monrtality JanTemp JulyTemp RelHum Rain

_$_
(]| TAY
]
OH Akron Akron, OH 921.87 27 71 59
NY Albany- Albany-
Schenectady- Schenectady- 997.87 23 72 57

Troy Troy, NY

;
0] =AY
5
OH Canton Calntgr'1_i 912.35 27 72 59 36
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[OllHIhttp://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/
SMSA.csv

import pandas as pd
url="http://203.247.53.31/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'
ds=pd.read_csv(url)

ds.columns

Index(['city’, ‘Mortality’, 'JanTemp’, ‘JulyTemp', 'RelHum’, 'Rain’,
‘Education’, 'PopDensity’, ‘'NonWhite', 'WC', '‘pop/house’, ‘income’,
'HCPot', 'NOxPot’, 'SO2Pot’, ", ' WLZF, 'AlLX|£E],
dtype='object")

FH| : 2R ¥4 S| 2 1) diloc[ZEZ, ‘M 40|27 ]=t447}

A B2~ HIEH 2) numpy AL : np.where(E, BFEEA|, BHESHX| 22 A|)
M

- ds.Mortality.mean() : A2 (Mortality) Bz A&t

- MEE BREL =2 TAE KNe=8, HE RAE XS

import numpy as np

ds['At2FX| =& T1=np.where(ds['Mortality']>ds.Mortality. mean(),

ez, AeHS

ds['AF2X|£=15".value_counts()

X+=8 31

XeHE 29
Name: A2 X|£ &, dtype: int64

« Education ds4&F 12(1E 0[2f) O|AM0|™ nstd T A| 12 O|PHO|H X{st
2 CAZ LI: HAE NRLT 0|20 XA

o
« 6071 =AI7F 271 HECZ BREIUS - 0] FA2 0| 371 0]l B2 Af
&5t zlCt.

ds.loc[ds['Education']>=12,' i €4F"]="115H=]'
ds.loc[ds['Education’]<12, m%¢§ 1=

ds[' 1 24%"].value_counts()
Xst 48
stz 12
Name: WF4F, dtype: int64

‘:'E"E| o|EIA |:||-§7|

===} —

DF.groupby(['2E#H1" ' IEHL2 [ SAHZH,1 " HE2.EAHZH()

« E72F = mean, var, std, kurtosis, skewness, quantile[0.9] § 7ts

. Bio} QO Szt 4 X HIX| Qo Hlo|E Lf £AH ¥4 HlojEE B

o o

NonWhite PopDensity

e 6.363636 3656.909091

=8 25.900000 5308.000000

Xsk X2 6.761111 3442.833333
+

=
=2 16.486667 4168.600000
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ds_mean=ds.groupby([' =4

ds_mean.loc[[' !

154", ['NonWhite']]

NonWhite

dgLE MAXFIE
sk X|#52  6.363636
X|&==2 25.900000

ds_mean.iloc[:,[0,1]]

BSIE MURLIE

NonWhite PopDensity

L P
X4 5
Mt Rk
X4 5

6.363636 3656.909091
25.900000 5308.000000
6.761111 3442.833333

16.486667 4168.600000

DIEA & H SA| AL

Z= AKX 2 DI['NonWhite','PopDensity’]].mean()
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(0) 2t &= mf &H(2-1=1) X|Yg

Of|lA| Ci[O|&{ (CIlO]& 27| n=60) crime[0:2]

http://wolfpack.hnu.ac.kr/Stat Notes/example _data/US _crime.csv

FOIE  EAMOIE o EHARM & ZU

import pandas as pd

url="http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/US_crime.csv ' 0 ALABAMA  Abbeville 2645.0 11.0 1 1.0
crime=pd.read_csv(url,encoding='"ms949°)
crime.columns 1 ALABAMA Adamsville 4481.0 19.0 1 0.0

Index(['FO0|5", "=AIO|E, QU7 'ZZAL, ‘Aol "ZZF, ', "Z&, TAHZ|", 'FAHEY,
HE, REEET, z z
2 C|O|E APH|5H | df.drop[0,2]

crime.shape
o QIEIA O 2 X|2Et
(9292,12) __ B(F 7)) 1271, & 7H(ClI0IE 27| n=9,292)
crime.drop([0,2]).head(2)
sl oldlA(O|2 :
Pandas H|O|E|E Bt=H &l QlHiA = ZHHO|CY, 1 ALABAMA Adamsville 4481.0 190 1 00
crime.head(3) 3 ALABAMA Alabaster 31170.0 44.0 0 20
st AMX|El HIO|EE AHESHE™ X&6lOf StCt,
FO|E ZAO|E o
crimeO=crime.drop([0,2])

crime.index.names
1 ALABAMA Adamsville 4481.0 (9290, 12) e

. ’ => ol 2747} H|2|=[0 n=9,292-> 9,290

FrozenList([None]) 2 ALABAMA  Addison 744.0



http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/US_crime.csv
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O 2 x5 |

DataFrame.set_index(‘@H4=0|2")

« 0~59 ARl CIEE

crime.set_index('F0|£").head(2)

EAOIE  oIR4 EuAR Aol

QI A0 F M= city=2 X ME=|RACH.

2 2= =y

zo|g
ALABAMA Abbeville 2645.0 11.0 1 1.0 2 7.0
ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0

2], inplace=True)

E5t}7|

- PICIOJE] & QIEIAE= O, 1, 2 A2 0|82 ULt (None)

O|&1, 0|82 =22 X| T

» crime00 H|O[E{Zef| 2| & QI=H|A = ‘F0|8’, ‘"= A|0|F'0|C,

import pandas as pd
url="http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/US_crime.csv '
crime=pd.read_csv(url,encoding='"ms949’)
crime00=crime.set_index(['F0|&','=A|0|E'])

crime00.index.names

FrozenList(['3=0|Z' '=A|0|E'])

- GHSE A QIHIAR CHX|SH £ S 0|ECE K&
inplace=TrueE AIEsIH EIC CHE 0|22 ALE
0] X5t EICt

crime.set_index(['Z=0|
crime.index.names

2''C A|0|2",inplace=True)

FrozenList(['Z=0|Z" 'TA|0|E'])

[}

= 0|

15101 AtE5tH

= L=

of

df loc[‘BAIEZ] - df loc[[‘Bal-HF1’, ‘HF:20]

crime00.loc['/ALABAMA']

ol EaA Mol Y AT =Y
FE
Abbeville 2645.0 11.0 1 1.0 2 7.0
Adamsville 4481.0 19.0 1 0.0 7 11.0
Addison 744.0 1.0 0 1.0 0 0.0



crime0O.loc[[[ALABAMA', 'OHIO']].head(2)

QI EEARM 4ol ZZ Z: F¥Y iz

FOIE EAMOIE

ALABAMA  Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0

Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

crime00.loc[[ALABAMA', 'OHIO']].tail(2)

S & XY, df.query("RQIHIAH=="tH"")

crime00.query("=A|0|E=="Abbeville™)

ol74 EYAR ol

N
iy
o3
H
J
02

FOIE EAMOIE

S sl XA df.xs("HF, level='2IHA0|E"

crime00.xs(‘Abbeville’, level="=A|0|£")

ol7s FEARM a9l ZU Zx FY  xjidz

FO|E

ALABAMA 2645.0 11.0 1 1.0 2 70 63.0

GEORGIA 2888.0 3.0 0 NaN 2 1.0 22.0

A o QIAOE ALRIHS

crime00.xs((ALABAMA', level='F0|Z")

o4 EAMA Mol U FE  EY xjanEs

EAMOIE

ALABAMA Abbeville 2645.0 11.0 1 1.0 2 7.0

NRENDNRIA  Ahhaviilla 2228 N 2N N NaN 2 iNn

crime00.query("F0|E=="ALABAMA™)

o74 EEAR Mol U =

FOIE EA0|E
ALABAMA Abbeville 2645.0 11.0 1 1.0 2
UE| QIEA ZA| ALRSE7|  df.loc[(RHHZ, 2R )]

crime00.loc[(ALABAMA', ‘Abbeville’)]

o134 2645.0
Z3HAIA 1.0

Atol 1.0
PAxd} 1.0
= 2.0
=3 7.0

sl QI A O|Z HFLY| df.index.rename_axis()

Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0

Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

AAdAicAn 744 N iNn n 1N n nn 28N

crime00.rename_axis(index=['State_name’, 'City_name'],inplace=True)
crime00.index.names

FrozenList(['State_name', 'City_name'])



df.set_index(['@+H1','YHL-H2'Y, inplace=True)

[Oll&]http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/
SMSA.csv

import pandas as pd

filename="http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'

ds=pd.read_csv(filename, encoding="ms949’)

ds.columns #8150/ =2 list(ds) &

Index(['city’, ‘"Mortality’, 'JanTemp’, JulyTemp’, 'RelHum’, 'Rain’,
‘Education’, 'PopDensity’, ‘NonWhite', ‘WC', ‘pop/house’, ‘income’,
'HCPot', '"NOxPot', 'SO2Pot’],
dtype="object’)

[ H= X|7] HI0|E{0|E[*HT"] | HIO|E{O|E[[*H=H 1, T2

ds['city’]

0 Akron, OH

1 Albany-Schenectady-Troy, NY

2 Allentown, Bethlehem, PA-NJ

3 Atlanta. GA

ds[['city’, 'Rain‘]]

city Rain

0 Akron, OH 36
1 Albany-Schenectady-Troy, NY 35

o Allantnwn Reathlehem PA-NLI a4

9| Gl0|E{Z /0] SO[3 ¥ QAL 0,1, 2, .7t EC,

ds.head(3)

city Mortality

ds.index.names 0 Akron, OH 921.87

Albany-

FrozenList([Nonel) . " " 5 99787

g4 0|5 ‘city’, ‘Education’?} O|H|= & QIHIAT} =Tt

dsO=ds.set_index(['city’,'Education’])
dsO.index.names

FrozenList(['city’, 'Education’])

MEZ PHSO0ZI HIO|HE &= Y 0|52 2 AIE5HEH inplace=True AFE

o

ds.set_index([‘city’,'Education’],inplace=True)
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—

M=z

2 BHS 7|

[0

DataFrame.drop(‘#14=%’, axis=1)

DataFrame['NEWH’]= {DataFrame[‘7|Z#H 3]} A4

ds.drop(‘city’,axis=1)

Mortality JanTemp JulyTemp RelHum Rain Education PopDensity

0 921.87 27 71 59 36 11.4 3243
1 997.87 23 72 57 35 11.0 4281
2 962.35 29 74 54 44 9.8 4260
3 982.29 45 79 56 47 111 3125

DataFrame.drop([‘#H31’, ‘HHH2), axis=1)

ds.drop(['city’,'Rain’], axis=1) # 27} i X &

Mortality JanTemp JulyTemp RelHum Education PopDensity N

0 921.87 27 71 59 11.4 3243
1 997.87 23 72 57 11.0 4281
2 962.35 29 74 54 9.8 4260

. JanTemp, 12 7|2(3H4))Z MM 7|22 HIF10{ CloJE| DFX|at Rof 1oy
JTCE XNZt=ICY,

<Pot SO02Pot JTc

15 59 -9.0

ds[JTcl=(ds[ JanTemp-32)*9/5 39 -16.2

ds.columns

Index(['city’, ‘Mortality’, 'JanTemp’, ‘JulyTemp’, 'RelHum’, ‘Rain’,
'‘Education’, 'PopDensity’, ‘NonWhite', '‘WC', ‘pop/house’, ‘income’,
'HCPot', 'NOxPot', 'SO2Pot’, "JTc'],
dtype='object’)

ds['JanTemp']=(ds['JanTemp']-32)*9/5

ds.columns

Index([‘city’, 'Mortality’, 'JanTemp’, 'JulyTemp’, 'RelHum', 'Rain’,
'Education’, 'PopDensity’, 'NonWhite', 'WC', 'pop/house’, 'income’,
'HCPot', 'NOxPot', 'SO2Pot’],
dtype="object’)



(@)
=

5
i
re
\J
&gy

1 22 Sl |0|E| subset

DataFrame[Z=71&], ZZ12(0ll) DataFrame[‘#H+H"] == gt

- 3 OIEIA HSE HH 00| QICH AW BEX|7F ZS DIESEA| QL0 ALK |
oo
A 3

ds[ds['Mortality']1>=9501 #Mortality gt 950

city Mortality JanTemp JulyTemp RelHum Rain Education PopDe

Albany-
1 Schenectady-
Troy, NY

997.87 23 72 57 35 11.0

Allentown,
2 Bethlehem,
PA-NJ

962.35 29 74 54 44 9.8

3 Atlanta, GA 982.29 45 79 56 47 11.1

20| 27l o|¢el AR0ll= ()2 F=Ch. | = or, & = and 2|0

o« QIEIA ST} 1, 8, 510|C} 0, 2, ... 2 XS THESHA| 201 AMH| EIUS

ds[(ds['Mortality']>=950) & (ds['JanTemp']1<=25)] #Mortality gt 900 0|4} JanTemp 250/5}

city Mortality JanTemp JulyTemp RelHum Rain Education PopDensity

DataFrame.str.split()gf<Z 0|&73}0 city0|E= * ' - S
H AL, D2 271 BIEUR

Albany-

1 Schenectady- 997.87 23 72 57 35 11.0 4281
Troy, NY

8 Buffalo, NY  1001.90 24 70 61 36 10.5 6582

51 Syracuse, NY 950.67 24 72 61 38 114 4923

ds['city'].str.split(" ',n=1, expand=True)

0 1
0 Akron, OH
1 Albany-Schenectady-Troy, NY

Z1h= 27 EOo[1L &+ Him =0|E2f Q=2 [1]0]CH.

(L

ds['city'].str.split(" ',n=1, expand=True)[1]

0 OH

1 NY

2 Bethlehem, PA-NJ
2 A

si9ie

OH 2XIE S .replace()dl 2lall ‘Ohio’ £ %

ds['city'].str.split(" ’,n=1, expand=True)[1].replace('OH’, 'Ohio')|

0 Ohio

1 NY

2 Bethlehem, PA-NJ
Pl A

o



iloc, loc &L

[0l &[]http://wolfpack.hnu.ac.kr/Stat Notes/adv_stat/LinearModel/
data/SMSA.csv

import pandas as pd
filename="http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csVv'

ds=pd.read_csv(filename, encoding='ms949")

ds.columns #8110/ =2 list(ds) &

Index(['city’, ‘Mortality’, 'JanTemp’, 'JulyTemp’, 'RelHum’, 'Rain’,
'‘Education’, 'PopDensity’, ‘NonWhite', 'WC', ‘pop/house’, 'income’,
'HCPot', 'NOxPot', 'SO2Pot'],
dtype="object’)

Ir
_lT'_
z

i)
_olh
= Tir
>1>
M
r

Zt1 : DataFrame & QIHIA = B2~ (columns)
o

o
o|§2= EHIiIOhJP ot Hj_"

ds.set_index('city’, inplace=True)
ds.info()

<class ‘pandas.core.frame.DataFrame'>

Index: 60 entries, Akron, OH to Youngstown-Warren, OH
Data columns (total 14 columns):

Mortality 60 non-null float64

JanTemp 60 non-null int64

DataFrame.reset_index(inplace=True) : SiX & QIHAE A 2 Cf
A

DataFrame.iloc

ol

EX|Md 5to] M=

il

, g Hs= 20X Zp

POII
i

0%t

il

.iloc selections - position based selection

data.iloc[<row selection], <column selection>]

Integer list of columns: [0,1,2]
Slice of columns: [4:7]
Single column selections: 1

Integer list of rows: [0,1,2]
Slice of rows: [4:7]
Single values: 1

ds.iloc[0:3] # & &(0)2E] 241m(=3-1) & ZX|MY

city Mortality JanTemp JulyTemp RelHum Rain Education

0 Akron, OH 921.87 27 71 59 36 11.4

Albany-
1 Schenectady- 997.87 23 72 57 35 11.0
Troy, NY

Allentown,
2  Bethlehem,  962.35 29 74 54 44 9.8
PA-NJ
ds.iloc[3] # 421R(00] A iR ZX|M) & ZX|ML

city Atlanta, GA
Mortality 982.29

JanTemp 45
JulyTemp 79
RelHum 56
Rain 47
Education 1n.1
PopDensity 3125
NonWhite 27.1

WC 50.2


http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv

ds.iloc[-1] # OfX[Sf & ZX[MHY ds.iloc[:,[0,3,5]] #XE1H 42 521 & ZA[MHY

city Youngstown-Warren, OH
Mortallty 954.44 city JulyTemp Rain
JanTemp 28
JulyTemp 72 0 Akron, OH 71 36
RelHum 58
Rain 38 1 Albany-Schenectady-Troy, NY 72 35
E(.jg.c\a.tlcﬂ.. 19',7.-1 2 Allentown, Bethlehem, PA-NJ 74 44
In [79]:  ds.ilocl;,0] #&/ER] & ZX/AL 3 Atianta, GA S
Out[79]: 0 Akron, OH ds.iloc[0:3,[0,3,51] #&/L1HY, 41, 1R & EX|MY! + (1~3)7H & AEY
1 Albany-Schenectady-Troy, NY
2 Allentown, Bethlehem, PA-NJ
3 Atlanta, GA city JulyTemp Rain
4 Baltimore, MD
5 Birmingham, AL 0 Akron, OH 71 36
6 Boston, MA Al Sch Trov. NY 5
7 Bridgeport-Milford, CT 1 bany-Schenectady-Troy, 7 35
8 Buffalo, NY 2 Allentown, Bethlehem, PA-NJ 74 44
9 Canton, OH
1N Chattannnoa TN-=A

. oy A = . = =l

city Mortality JanTemp JulyTemp city JulyTemp Rain

0 Akron,OH  921.87 27 71 - LT O v e
1 Albany-Schenectady-Troy, NY ~ 997.87 23 72 2 Allentown, Bethlehem, PA-NJ "4
2 Allentown, Bethlehem, PA-NJ 962.35 29 74
3 Atlanta, GA 982.29 45 79
4 Baltimore, MD  1071.29 35 77




DataFrame.loc

il

o] Megsict,

ol

o= ?x|E ZX[H¥d

0gt
i

0l

o

& 0|

o

loc selections - position based selection
data.loc[<row selection], <column selection>]

Named column: ‘first_name’
List of column names: [‘first_name’, ‘age’]
Slice of columns: ‘first_name’:address’

Index/Label value: ‘john’
List of labels: ['john’, ‘sarah’]
Logical/Boolean index: data['age’] == 10

ds.loc[ds['JulyTemp']==70] #July temp g =70 &

city Mortality JanTemp JulyTemp RelHum Rain Education

8 B“ﬁ?\'& 1001.90 24 70 61 36 10.5
San

4 Do GA 83971 55 70 61 10 12.1

57 W°'°esm 895.70 24 70 56 65 11.1

ds.loc[(ds['JulyTemp'] ==70) | (ds['JulyTemp']l ==71)]1 #July temp &t = 70 or 71 &

city Mortality JanTemp JulyTemp RelHum Rain Education Popl

0 Akron,OH  921.87 27 71 59 36 11.4
8 B”ffa,\'& 1001.90 24 70 61 36 10.5
13 Cleveland,  ggor o5 08 71 60 35 11.1

ds.loc[(ds['JulyTemp'] >=70) & (ds['JulyTemp'] <=72)]1 #July temp gt = 700[4&} 72 O/} &

Mortality JanTemp JulyTemp RelHum Rain Education PopDensity M

city
Akron, OH 921.87 27 71 59 36 11.4 3243
Albany-
Schenectady- 997.87 23 72 57 35 11.0 4281
Troy, NY
Buffalo, NY 1001.90 24 70 61 36 10.5 6582
Canton. OH 912.35 27 72 59 36 10.7 4213

o2t

710 gt

— P

rir
i

Al (#4) Bt 52

ds.loc[ds['JulyTemp'] ==70, ‘city'] #July temp 2t = 70 city BF X|&

8 Buffalo, NY

46 San Diego, CA

57 Worcester, MA
Name: city, dtype: object

ds.loc[ds['JulyTemp'] ==70, ['city’,'Rain'l] #July temp gt = 70 (city, Rain) BF X|Z&

city Rain

8 Buffalo, NY 36

46 San Diego, CA

57 Worcester, MA

10
65

A
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XIS SA|0f| AF2SH= 42 DataFrame.ix AH25HH EICEH




1=

M5

& city =AtE LHE0| =2| X|F 2A S0H(, )0l 2fsl n=10] 2|sf| of 1 =2

_IE_II'OE:I S ri n g 5|0 271 Pz 2=t

ds['city']l.str.split(’;, n = 1, expand = True)

S4+27 Y B 22l

P . )Y T
ColName.str.split(pat="??’, n=?, expand=True) 0 1
- pat: E4E2X XY, pat 42 7k5 \n,\t, -, (BOF, ), BE 22| 2X} ks 2 e Eha
« ?: 2e| X|d EXAE Sl 1 Albany-Schenectady-Troy NY
- expand = True : B2|&l X5 £2/510] MZ CH2 Foj| MEFsiT 2 Allentown  Bethlehem, PA-NJ
3 Atlanta GA
'http://wolfpack.hnu.ac .kr/Stat_Notes/adv_stat/LinearModel/data/S
MSA.csv' (ClIA| C|O|E) S| glo|E K& E o 0|2 XN
import pandas as pd 1702 2XHE cityZt 27112 E= 22[=|0 0|E=2 0, 12 XEEICE

filename="http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csV'

ds=pd.read_csv(filename, encoding="ms949’) L o
new=ds[ city'].str.split(’,;’, n = 1, expand = True)

new|1]
ds.head(2) 0 OH
1 NY
2  Bethlehem, PA-NJ
city Mortality JanTemp JulyTemp RelHum Rain Education 3 GA
(1} Akron, OH 921.87 27 71 59 36 11.4 4 MD
Albany- i ':‘ALA
1 Schenectady- 997.87 23 72 57 35 11.0

Troy, NY



http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv'

20|Z XM (&4l) DataFrame.columns=[‘CiX|0|£1’,‘CHx][0]E2’, ...] Saiol= EXtE 22| DataFrame.str.strip() 0|2

— HA

new:ds['city']_str_split("" ns= '|' expand o True) E‘Elil OE:| I:In_:l‘)lk‘, ‘—7|50|%’0-||E OH7|' EO“——" Jélx.”E _cT'SHﬁHol 91“:|-
new.columns=["=A|",'F'] . o i
new.head(3) new['%0|&]=="0OH

0 False

1 False

A = 2 False

3 False
0 Akron OH A Ealea
1 Albany-Schenectady-Troy NY - 2HS strstrip()2 ¥ZE DE S X|7HsIC}
2 Allentown Bethlehem, PA-NJ

new[new['F0|&].str.strip() == 'OH']

& 0|2
#4015 HAE (&4A]) DataFrame.rename(columns={#14}, =M Folg
inplace=True) 0 Akron  OH
o - 9 Canton OH
new.rename(columns={'F":"3=0| £}, inplace=True)
new.head(3) 13 Cleveland  OH
neW[l—pﬁ-Ol%'].Str.Strip() =="0OH' 14 Columbus OH
A F0|2 0O True 16  Dayton-Springfield OH
1 False
0 Akron OH 2 False 52 Toledo  OH
3 False X
1 Albany-Schenectady-Troy NY 4 False 59 Youngstown-Warren — OH

2 Allentown Bethlehem, PA-NJ




>

EA| 0|2 2IZRH fIx| 29d 510 EQst & MH

DataFrame.str.slice(start=?, stop="77?).astype(???)

+ 2 : A& 9I%| QISAl M3 (00] AlRH)
H

|
« 777 . 221Q7| lElY, str, int

new[ = A|'].str.slice(start=0, stop=5).astype(str)

0 Akron
1 Alban
2 Allen
2 Atlan

new[ = A|].str.slice(start=2, stop=5).astype(str)

0O ron
1  ban
2 len
3 lan
A

I+i




1=

M6

Lél_;xl_ date O|M|1X| H|O|E] (2018 1£7])

http://203.247.53.31/Stat Notes/example data/mise/2018Q1.csv

A B C D 3 r
XY 534L3E |5YLY FSHLA SO2 co
ol|A| S|O|E Ng 33 111121 337 2018010101 0.004 0.5
ME ST 111121 3+ 2018010102 0.004 0.4
7| A 0| (2018'5') ME FT 111121 3+ 2018010103 0.004 0.4
O o L e B Y el s g e € A e e DT s N B el M T s T e e LV A MM | Pl o 8 o ommm wmm, N -_—— R ==
http://203.247.53.31/Stat_Notes/example_data/climate/2018climate o« SPLA| - =X (In) 22 MEEH S
.CSV
ds2.info()

<class 'pandas.core.frame.DataFrame’>
Rangelndex: 768672 entries, O to 768671
Data columns (total 11 columns):

1Al Bd7|2(°C) ZAM7[2(°C) ZAM7|2 AZA17|2(°C) 7|2 A2
90  2018.1.1 1 -3.2 343 4.2 1443

90 201812 15 ey 2344 5.6 1358 ,
9 201813 1.6 55 732 33 1432 A% 768672 non-null object
90  2018.1.4 1 5.7 342 2.2 1449 FEAIE 768672 non-null int64

=EZ™AH 768672 non-null object
ESHYA|l 768672 non-null int64
S02 720520 non-null float64

~ NN AT — —- Il £l . _ s~ 4

« A= EXHL(string)2 £ MEEYS. - (object)

import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/%EA%B8%B0%
ds=pd.read_csv(url, encoding="ms949°)

AlOE H

el == =

09!
rlol

ZAIE string A =% 1517

ds.info()

<class 'pandas.core.frame.DataFrame'> pd.to_datetime(PD.Series)

Rangelndex: 34675 entries, O to 34674

Data columns (total 61 columns): import datetime
A 34675 non-null int64 ds.2Al= pd.to_datetime(ds. 2 Al)
LA 34675 non-null object ds.2A|.head(3)
Br71=(°0) 34630 non-null floate4
Z[X7]2(°C) 34672 non-null float64 0 2018-01-01
Z|X7| AlZHhhmi) 34672 non-null float64 1 2018-01-02
2 2018-01-03

Name: & A|, dtype: datetime64[ns]


http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv
http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv
http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv
http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv
http://203.247.53.31/Stat_Notes/example_data/mise/2018Q1.csv
http://203.247.53.31/Stat_Notes/example_data/mise/2018Q1.csv

20 Al 28 Series.dt. @A (22 H5t7])

df['<Xt&H#H "] .astype(str)

|
K| Heltt. (ZArE HIO|HE A2 = B .astype(int))

ds2[SHLA|']=ds2['
ds2[ SHUA']=ds2['
ds2.info()

IA|].astype(str)
IA|'].str.slice(0,8)

~ e

ﬂJO m°
> >

<class '‘pandas.core.frame.DataFrame'>
Rangelndex: 768672 entries, O to 768671
Data columns (total 11 columns):

X 768672 non-null object
EX™ATAE 768672 non-null int64
=EZX3AM 768672 non-null object
ZXAA| 768672 non-null object

SO2 720520 non-null float64

fjo

pd.to_datetime()2 At&35t0] XY

ds2. ™ YA|= pd.to_datetime(ds2. SHLA|)
ds2. ZX™AA| head(3)

0 2018-01-01
1 2018-01-01
2 2018-01-01
Name: SHLA|, dtype: datetime64[ns]

A A2 EAFG A O 2 HSHS|{Of ST astype(str)22 EAHE

1= =
St Cl|O[E] ZO| It A0l 820 Kt = str.slice() AFESH0] A 8At2| Tt

op

ds2. E-LA|l.dtyear ds2.EXUA|l.dt.month  ds2.EXYUA|.dt.day

0 2018 0 1 0 1
1 2018 1 1 1 1
2 2018 2 1 2 1

ds2. 58 YAl dt.quarter  ds2. =X 2UA|.dt.weekday

0 1 0 0
1 1 1 0
2 1 2 0

Series.dt.weekday
The day of the week with Monday=0, Sunday=6

A|Zt H|0|Ef Bt=7| - datetime module

I} SAIO R HESITH

import datetime

datetime.datetime.now()
datetime.datetime(2019, 5, 9, 9, 21, 54, 215373)

« AZtHIO|E] E58 : year, month, day, hour, minute, second

now=datetime.datetime.now()

print(now.year, now.hour, now.strftime("%A"))

2019 9 Thursday



stritime() - AIZIQEMEE 2XtE ZOHOo= THELY, - MH#H
=DT.strftime(‘Di’)

now.strftime("%A")
‘Thursday’
weekday=now.strftime("%a")

month=now.strftime("%B")
print(weekday, month)

Thu May

datetime.date / datetime.datetime

x=datetime.date(1961,1,3)
x.strftime('%A")

Tuesday Mol 1961.1.3Y2 29

=

y=datetime.datetime(1989,5,28,22,23)
print(y.strftime('%A"), y.strftime('%p’))

Sunday PM

Directive
%a
%A

%w

%d
%b
%B
%m

%y

%Y
%H
%I

%p
%M
%S
%f

%z
%Z
%j

%U

%W

%cC
%X
%X

%%

Description
Weekday, short version
Weekday, full version

Weekday as a number 0-6, 0 is
Sunday

Day of month 01-31
Month name, short version
Month name, full version
Month as a number 01-12

Year, short version, without
century

Year, full version

Hour 00-23

Hour 00-12

AM/PM

Minute 00-59

Second 00-59

Microsecond 000000-999999
UTC offset

Timezone

Day number of year 001-366

Week number of year, Sunday as
the first day of week, 00-53

Week number of year, Monday as
the first day of week, 00-53

Local version of date and time
Local version of date
Local version of time

A % character

Example
Wed
Wednesday

B

31

Dec
December
12

18

2018
17

05

PM

41

08
548513
+0100
csT
365

52

52

Mon Dec 31 17:41:00 2018
12/31/18
17:41:00

%



